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Enter the time

Enter the Unti
Mor S

v

fPrint (time/60 ) M;

v

fPrint (time*60 ) S;

a0l Ulod=ill

fa Time.py -
1 # Enter the time
2 Time = float(input("Enter the Time : *))
3 # Enter The Time's Unit
unit = input ( "Enter the Time's Unit M for Minutes or S for Seconds : " )

5 if unit == "N":

print (Time * 60 , *"S*)
7 else:

print (Time /60 , *M®)

Run:  © Time

4+ C:\Users\ali\Desktop\python\daleel10-a1\.venv\Scripts\python. exe C
Enter the Time : 90
;; J Enter the Time's Unit M for Minutes or § for Seconds : §
151




=

mllln
oy Loill cilaplpiwl

:gu_ijI O _nNell

aly 16 20 €grgo Jo Jlasll (o Jaao sac pbl algl (U] wagl andiliu] ol ansll

el ohinl yile a@geig (ualsiall gy Al phaillg glhull guf geai 1o isg bl 1o duclon

Wlamll guenil slijulg angill go aleall jgg \ogilogleog (A Aol (o solatwllg aalizall
.00 ol

Ul Jadl e Jomal ol Slolslcasl o

1 # aiall sac Run: star
2 n = 4 > C:\Users\HP\PycharmProjects\pythonF
3 y *
4 for i in range(l, n + 1): —

. . . . * k% %

a . — * k% % %

6 print("x " % i) =
7 » =
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1

N

H# o) s

age = 25

name = "Ahmed"
is_student = True
height = 175.5

# ol a8 delb

print("Name:", name)
print("Age:", age)

print("Is student:", is_student)
print("Height:", height)

Run:

>
F

dJl

m dh

num

Name: Ahmed

Age: 25

Is student: True
Height: 175.5

Process finished with exit code 0
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. Python =l s16 (prac gon dlauio A 16 duoum Laodl il daniliiwl Gudni dl_‘i_o

coie

1 # ool ppadl el

2 numl = 10

3 num2 = 5

4

5 #oaesll

6 result = numl + num2

7

8 # i delh

9 print(".s 5L, result)
10

numi1=10
num2 =5

result = num1+num2

: ol Ulod=ill

Output 2
/ Print result /
Run: sum

> C:\Users\HP\PycharmProjects\pythonProjects4\.venv\Scripts\python.exe

Yy’ 15 1o u

1< Yl

Process finished with exit code 0
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A 4

/ Enter length /

A 4

Enterunit (M or F)

Yes No
Feets = Meters* 3.28084 Meters=Feeis / 3.28084
A
/)rint length in Feets/ /lint length in Meter%
v
End

:wpi . I.o. 'I‘e - s

:aladoll
aalizall (wldll lang (Lo Jugadll
Jlgb 1l

auojjlgall
028llg oLl ( Jigb Ll Jugai 1
Johl pariall (po Juaiwl 2

Janadl Jghll cgi paniuall (po Judiwl 3

JlioDb Jghll gls 15] dlbleall pariwl .4
Feet=Meters=x3.28084

iels pe s 15] dlolrall paaiwl .5
Meters=Feet+3.28084

uwlall 623g) Jgaill a9 Jigh Il pycl 6
Auglholl

: ol Ulo=ill

# oasioll oo adll Sl ~

length = float (input("Enter the length: ")) B
unit = input("Enter the unit F or M: ") "/Users/mirror/PycharmProjects/Grade 10/.ve
’ Enter the length: 10
5 if unit == "M": A
feet = length % 3.28084 _ Enter the unit F or M: F
print (feet) @ 3.047999902464003
else: 2
me'fers = length/s.28684 =  Process finished with exit code 0
print (meters)
1 | o} |
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Jtle tilogleall o= print() dlallg , peinll ¢gi e wpill type() alal planiwl auars 633gll 0am 10 aleiiw
JoLWI a2 16 aulwnl Sllasll jgo) ke LAl Wyeiiw oaxiniall (po GA el Judiwd input() &lbg abbiul
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type() allb aaibg e Wil

print() &l> dadsrg lc o y2ill

UL 10 dplundl allasll jgo) e il
Aplundl oldasll Aaii alglgl juod

input () &l dabg e =il

JIgl planiuwl bl clgil ju Jugaill
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=
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Variables wljoiall : Jo=ll §ljal

cugall alpll dwwjao dlng dalai wlwn :(6) Joc ad)g Ja

cugall Al Jgis willplgall dalai arogleay cugall Alpl duwjao alag dalsi ulus :dlAdioll

.Gungllg .
C _ as)q
(transportation) . LLolgall jow g(meal) axnagll jow g (ticket) cugall alpl Joao jouw <A 20l
:albleall planiwl total _cost Al Pl aal4’ jloa | U :daleall
total_cost = ticKet + meal + transportation (6)
total _cost ala gl aalai llaal pyc <l Aol
: FlowChart goaill A : awojjlaall

Start

r

a4 aolpllaly 1

;018 iwall jo Judiwl 2

Enter / . .

meal price L_Ugﬁ_” (}UJl dglJJ—V—UU i

> angllpw .J

/ Ent_er ) /
transporation price

JUplgall ;o .

1 c
total cost = CLIAJ.” aalaj U'IJLQAl L_JLLLD 3

ticket + meal + transporation -

l ahaglaalai plloafacub .4

/Printtotal cost/ obplalgi .5
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:éau ol Gloyeill

Code

7 Kuwait_Tower_Trip.py *

1 # Enter ticket , meal , transportation price:
2
3 ticket_price = float(input("Enter ticket price: "))
4 meal_price = float(input("Enter meal price: "))
5 trans_price = float(input("Enter transportation price: "))
6
7 # Calculate the total cost
8 total_cost = ticket_price + meal_price + trans_price
9
10 # print the total cost on the screen
11 print (total_cost)
Output
Run Kuwait_Tower_Trip =
G O
‘ "/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"
| Enter ticket price: 3
Enter meal price: 1.500
- Enter transportation price: 2
= 6.5
=]
- Process finished with exit code 0
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Jodsall Jeuidl wlwn :(7) Joc 48)g

lgolail 1o axljulg 6)gall ngall drogleay Jgawall Jeuill wbwn :als iroll
(Jiadl) 62ngy Displacement aaljUl ( pigull) 6aagy Force 6jgodl 6gall : Al
(el o pblaaljdl aaus Jgai gy padiwal dhndle) | Loc @6)q
asleall olaniwl Work Jsuiul aaus ulwn :dalleall (7)
DaaljulxF 6gall =W Juill
(JgaJl) 8angy Work Jgawad! il 1l Aol

:FlowChart g6aill dhyA :@u0jjloall
?
2oliplagly 1
/ force. / Force 6y§all 6gall pariwall yo Judiwl 2
! ((gull) 6233y
/ @splacoment / Displacement éaljul paaiwall (po Jusiwl 3
( displacement = 0) (J_Q_DJ' U_QJJbT) (J_LQ_H) ong_j
4 o123 1wl (Jgal) 53ngs Work Juidl wlws .4
work = displacement * force W<=FxD OJ_'JLQQ_”
l aulidl e Work Jouiillaclb 5
/ Print work / 2oliplalgi .6
:End
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{(7) Jocadyg: Ja b

;g ol Gloyeill

# oaniwdl e AWl sl Jliis
. Ue Q4 sl Jlsia

var_force = float(input("Enter the force in Newtens: "))

#ouall ge oSl LY ol e __5;'1

var_Displacement = float(input("Enter the Displacement in kg (must be greater than zero): "))
# ool sid duall e

var_Work = var_force * var_Displacement

N O DN NN

# Jll paxe

print("The Work is:", var_Work, "Joules")

o]

> 1 "C:\Users\HP\PycharmProjects\pythonProject 10-1\.venv\Scripts
Enter the force in Newtens: 65
‘AR Enter the Displacement in kg (must be greater than zero): 14

The Work is: 910.0 Joules

=3
ms  Process finished with exit code 0
:ahallo
el &yaac doud (Ul dunill dosdll 0am JJgad Lingiso duni doyd Ladls ayi (input) daoaadl &l
Swlundl Gllosll
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gl au3)6 cuils elgu) Gwlisl dolle JAb ayliioll jgopl gl Wl (po Hulwi Jiod dxopl 16 duill Juw Ll

jgolig oLl Jio WDl (o ggai il aalilwlg ogal o) aaiuwd Juwlwll 0do axopll 42l 16 (82g2)0
dunill alwlull JAal> 63330 ORI Ul Jgogll yhaoy gwg Ujo lgeo Joleill Jeai allas 6ae juall anlll
éunill Jw bl 2oa aldac leul abll (1o 83230 eljal alaiwd (Slicing) ghallg (Indexing) dwpgall olaaiwl
&620] eunill Jw Ll &jléo Al opo (1o Ji51 sunill Juw Ll jlaT g Ji51 gl (uni a0 aouwi(Concatenation)
Ius Jolll ol Jead capitalize () éunill alulul Jgb adjeal len() Jio 61460 JIg3 jogi lguipi gl lgiulhi (1ao
Jlaiwl replace() aill Jal o gai ge il find() 6 pso gl b Wil il gadl Jugail lower() -upper()
slacl gl pgnill  Jugris float() -int() Juld aouud body (f-string padiuwd pgall Guudd ddlaol g (all o ejx
lojicq  aniioll 16 jaill 813kal center() g walll (1o (o e Jliai a9) padiud count() @ls g dypicg 8ann

-6uaall Jigall (o
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mlllm
Strings éunil Juw ! :gugjall ahA

lgoilnag apnll Juw Ll () e
anil Jw i sldoc
.indexing duwgall
Slicing ghdll
.Concatenation dauall Juw i 20 —

iTaky

awwl)d

- Gunill Jow ol jhas
. Comparison ajjlaall
s Jw ol Jlgo
Jen() dunidl ! Jgbo @
.Capitalize () @
.upper() ®
Jlower() @
glina find() ®

awwl)> replace() ®

o e —stri °
Strings2 ! String
int() @
float() @
.count() @

.center() @

53



.Strings dunil Jw ! : odeidl Ol L

. lgnilaa g dunll Jw il 0ggao e il

.8292j0 gl &usy0 Julisl CiloLle plariwl duni &lulw cliyl

-aunill Jw Ll ale apwlw Dl allasl! gle @il

(Buwgall) dundl alulul 16 W)Ll gdlgo sl Jgog!

63230 Al Ul Jgogl éunill ludul (1o eja ile Jgoall Slicing guhail ulac plaaiul
-+ goall Joleo plariwh 62123 duni dlutlw e Jgond) (uini (il gox
Fuyall Joleo olaAiwl aunil Juw Lul jliyaj

1=, == ajlaall Joleo planiwl dunill Juw Ll &)jléo

lgolaniwl aic 65110 dago il sjmlll gl sy slc Wil

len() &lls planiwl dunill dlududl Jgb 86j20

-aaoa0dl ulwll g aaoaall Jlgal g juadll

il Juw il @aleo e 10097 Ol A0 g LA L0 JaiT ARy 2ol )
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.Strings dunil Jw luwll :duquwhh ulalhno

Indexing Gu)goll string duni! | Jw Lol
¥ @
’3\
Concatenation dunidl Juw Ll g0 Slicing ghall
« I »
&
Built-in Methods @010l Lulwl Built-in Functions daoaall Jlgall

Lendalls Comparison ajjlaall

Lower dll> Upper dllo
Find all> Capitalize all>
f-string allo Replace dll>

Countallb Center all>
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Strings dunil Jw ol :axJi6o drog o7 Oundyilyiwl

ool oleall 0gby cuny clhoiwllig dwygall oggao JLJ.C..OJ&.I.U:QLigL&.UI,cUSLLI"Imu"____"lﬂ.wlpln;uu’ wl
(éuJpa0) 8810 Bl (Jgad i ke Gayys 6jgu gl yads il : Jio 63130 6436 ag) Cilegano U] (oleiall
:Jio pabig Joll ol 06y 12y 63230 Glals alniwl degaao J5 waiai 0ga) oF

25 24 23 22 21 20 19 18 17 16 15

42 41 40 39 38 37 36 35 34 33 32 31 30 29 28 27 26

62 61 60 59 58 57 56 55 54 53 52 51 50 49 48 47 46 45 44 43

S Lo oyl 6jguill o 3wl
(count pggao apd) € "alll alllall hal jaicilpo sac os @
(find pggan Apd) W Jgl 06y allla dalall gogo vgo "anl" aals Jgl gecl @
(len oggao A pb) € Aoyall §jgqull g dacps @
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Strings aunill Jw Wl : Jo=ll §ljgl Ja

Jgjall dols L'j._l,Di.l"Z(S) Joc ddjq

:alauiall
(! o) dingo aanil dunill aludull 16 G DIl i guac
A0l
(password) jgpallaals 0 A5)g
:anJleall (8)
[reversed_password) 16 lgijAig dalall yuhel Slicing 2161l planiwl
Aol
.(reversed_password) dwagAa=eoll dalall aclub
:FlowChart go6ail dhjA :@wojjlaAall
Start
X aolplaly 1
/ Pagg:\zrd / Jgpadl ands JBol pariuadl goudb .2
.(password)
(password) pxio 16 dodall (pjad
Reverse Password (reversed_password) Tau.p; Ip2io clivl 4

using slicing

.Guwgheoll aolall (pjadl
-1 dndall yuael Slicing guhail olariwl .5

h 4 JgJ.OﬁLQJbLQJTUU.CMgb&.QﬂﬁLQlﬁHdCUb 6
Print Password as BL0A0
secured version )
-aDUHJ' algi 7
h 4
End
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:(8) Jocadyg Ja il

;a0 Gloyle il

aunil alwdudl (o digeo cljal gl Jaoagl [start: end: step] slc Aaixi adyhll 0im
alosh il guhel 1- dogdy step Goud (i 0

& reverse_string.py

# Ask the user to enter the password
password = input("Enter Password: ")

# Store the reversed word using slicing

1

2

3

4

5 reversed_password = password[::-1]

6

7 # Print the reversed password as a secured version
8

print("Secured password: ", reversed_password)

Run reverse_string x

)

)
"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python" /

Enter Password: Kuwait
Secured password: tiawuK

|

Process finished with exit code 0

loops ! yujs a2y Jowll a8)g Juail ;AT A aolsl jano
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millm
Strings aunill Jw Wl : Jo=ll §ljgl Ja
sl i)l 220 - (9) o 85)g

albgioll
226 (13ac gulo 2lio (o (o) (apiell e jallg (o) dluludl (fo annll cj.;Jnlalpi.uJI 45y
Lol o
amount Lol gliall 1A 20l (9)

15 cja 1121 position petall 16 dunil dlulwl) dpiell alplall ggo yai :dalleall
(fils) Lulally glioll Alolall 12y eja 12T (Kd) iyl glall dlolall
.(fils gKD ) wglholl Guuidl glall dclib Il jAoll

: FlowChart §oail dhya : awojjlaall

Start

Enter
amount

Spilit input using " obpldayly 7
0 (500.750) Jlio ol glioll doud Judiwl 2

- rOJA.LLLLQJl
L Al agnill dlwlud) dypie)l Alolall grgo 1T 3
Al glall dlolall Jub ey yani 4
v oulall glall dlplall 19y cja yand 5
el fils and 500 KD 750 : Uil il &ulisy pliall acub .6
aolpllaylgi 7

h 4

Print result :
KD and fils
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H(9) Jocadyg : Ja b

:aua ol Cloye il

amount = input("Enter amount e.g (500.750) : ")
position= amount.split (".")

kd = position[0]

fils = position [-1]

print(f"{kd} KD And {fils} fils")

Run amount_answer <

g DN NN

@ O
"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"

Enter amount e.g (500.750) : 1000.500
1000 KD And 500 fils

l
\

le

Process finished with exit code 0
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Strings &unill Jw Ll : Joell §ljgl Ja - b
édunill dlwlull gihai: (10) Joc ad)g

:aladoll
huwalllg Joll ol sle Jgnal (@yjuaill aelil) full name Jolall awdl ouuidi
JAaldilg
full—_name (cujnidl alu Lﬂ_u_lJ) Jolall ow Ul A0l
-anlleoll
Jfind() &> plaaiwl -
ahang ulillg Jolll ol g gl Golwadl gvgo syl -
position_space1 pioll U’LO
akiong culillg Julidl puw i &l asluoll gogo skl - - Joc 83)g
position_space2 pxioll U’LO
culilg uldig Joll pawll e Jgnal gihaillg uwygall pladiwl -

gsecond—_name g first_name wlpeiall 10 oghong
third_name

(10)

Al

len() &> plaaiwl Jolall awll BT dacdcub -

Jol Jugailtitle () alal pladiwl go first_name Jgll owlll dcib -
.Capital letter | dola)l (jo WA

Jsgaititle () alall planiwl go second—_name k"J'LiL'IJIroJou_JIch;Jf_') -
Capital letter ] dolall (o W Jgi

Jol Jugniltitle () alal pladiwl go third—name culil owlll dcib -
.Capital letter | dla)l (Jo WA
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:(10) Jocad)q : Ja i
: FlowChart goaill dhyA : awojjloall

Start

y
Enter -
/fullname(3parts)/ Qolpllagly 1

0 il el (U ld) Jolall awll Judiwl .2
full_name p2io 16 ahong 01 Lol

A

print the counted characters in the
full name using len()

len() di> plariwl Jola)l auwll u’)pi Jacaclb 3

aolwall (Position) grngo sl find() &l olaaiwl .4
L 00 16 ahang  siilillg Jall ouu Ul sUgLll
find position of first ‘position_space1
space using find()
aolwall (Position) grngo sl find() &l plaaiwl .5
l Heio 16 ahong g uldl auw Uy agill
find position of second position_space2
Spaceismg By +Joll puwl e Jgmall gihaillg awygall planiwl .6
g first_name Ulpio 16 aghong cllillg il
third_name g second_name

v

use slicing and indexing to retrieve the first
name , second name and the third name from Gﬁu-b 7

the full name Jol Jsgni go culil awblg uli awbig Jall auwl
J5 S Ul Jolall auwll 16 e 5 (40 hid B

h 4 .Capital letter
print first name , second name and third name . .. .
after converting the first letter 2obpldulgi .8

to capital letter using title ()
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:(10) Joc

o oo

aojq

Al

: ol alogl=ill

Code
1 full_name = input("Enter your full name (Three Parts): ")
2 print("Characters in your name:", len(full_name)) # Step 3 in the algorithm.
3 position_spacel = full_name.find(" ") # Step 4 in the algorithm.
4 position_space2 = full_name.find(" ", position_spacel + 1) # Step 5 in the algorithm.
5 first_name = full_name [:position_spacell] # Step 6 in the algorithm.
6 second_name = full_name[position_spacel + 1:position_space2] # Step 6 in the algorithm.
7 third_name =full_name [position_space2+1:] # Step 6 in the algorithm.
8 print(first_name.title()) # Step 7 in the algorithm.
9 print (second_name.title())
10 print (third_name.title())
Output

Run name_entry_system_answer x

@ 0O

1 "/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"

| Enter your full name (Three Parts): hamad fahed salem

Characters in your name: 17

B Hamad

=Y Fahed

= Salem

I’rocess finished with exit code 0
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Conditions bquidl : gyl yujall

Sl auwlwl Glgsl Jglb asl 16 else | if, elif Jio subpill Jigallg + < <! == Jio aijlboll llac piej

g.awshiall bgpidl 205 or- and Glkac W auii laiy oudll dijléos W aow ajjlaall allac i cun aljlall

HST aolpll Joa Lo 831300l bapidl sl él dalino slgbl awaii liaay else if, elif dubpiul Jlgall olaaiwl

utc el aalino Jilwy acual bgpadl OlATwl g diyeo doud 1y Lithoy :JUadl Juw e .ararolyog dulelai

Conditions2

ulleog aigpos 2olipll G116 a8l 16 ackuy Lo éoudll 03m

=

——
.Conditions bgpuull : ywgjall dhA

Jllo=llg djjlacdl Sdoc (ju juod bl

Auwl)d Audhiall

if - else -elif- ub pidll Gillosll @bg : bapill @

4 I AL
awwl)d

25
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.Conditions bguidl : aloil UL

- aolipll jluo 16 pAaill g sl 3T 16 lojga g bgpiul 0ggao e wyeil

-dawdhiall wllasllg dijlaol aldac jgoy e bwill

SOlA200l i BaliAo s 38T aolp ailis 16 (else,if elif jadb pidl Olayleil Gibgi
.84l 0 jolgl 1101l 631210 bgpi silc 1019 Aolp aroni

by (o fisTdhii wslgo 1o alalaiall dudhiall bopill plariwl

- rdgilo ue Ailii jggb aic o)W ANl 114l g bgpill @ao (o Ganill

-Gl dnopdl Aljlall Sl g aolull owond 16 aohiodl paail |O.LQ.®|J_IJ_OJ
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Conditions bquull : duquwh Jhhlhno

CUJLO_Q_H Juloc
Comparison Operators Condition
OO —) | O
aub pill Gloyl=ill auwbhiall Uldao=ll
Condition Statements Logical Operators

Conditions bquull :anid0 duoyr 1o Obailhiwl

oleall ajjc lgolaniwl duaisg bgpidl 0ggao (e Wil @ oAl vnell duniliwl olaAiwl
151 w0l Ul Jgogll aleial ad@iu 3l c16gll cuwng aoliy aani 6446 (Juoleioll 2o sl
U181 18 Gllge il Jg2 (4o dwjrall Jaogl gul Jikall 6530 (4o adub> 15 Gi2iuy elelall i cialc
opAall
Jladal aausally aous elic] go aleiall pall 1387 26 il Gilgell (po dcgono gl 05 @
Jalill
W12 26 il gllgell o degare pariwall yie by aolip p1oni 06 Guw oy liwiuo - @
Jgogl aleiall ad @iy all sl gl jlgb] ai U gl e dlall ggai ol yic oleiall lg!
bl elli e éli dwjyaall gl
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.Conditions bguiul :aliol Ja

X, le4}uiLokJ446UJU10UILJUJ11CLQ4kbglJLLobiJgfdichJUJJE;pi

s Aol Ulowleil

100 NN O O N NN

X = 10

y =5

print(x
print(x
print(x
print(x
print(x
print(x

==y)
1= y)
> y)
<vy)
>=y)
<=y)

HOoR R OWH W R

False
True
True
False
True
False

>
K

0
%

< Yl

m dh

C:\Users\HP\PycharmProjects)
False

True

True

False

True

False
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k=2

.Conditions bgpiul :éliol Ja - by

aijlaall callac guy)ai aic ayle 151l aleall il wing o

:adjlanll Ollac jgo) e by=ill

s 13] Lo §anill paniu jol Ao ()i (uoleioll g (o 151 <—
5==6 Loy, True Qilll 5 == 5 ol Juww gle . (iglutio | pioudl! (==):6Igluwall
False ALl
ule . piogluiio pé piaudll culs 5] Lo §ani oyl 1am gl adgiuny - <— (! =)8lglurall pac
False il 51=5 lady True QW5 1= 6 JUall Juuw
JUgll doydll cuils 15] Lo G8ail paniuy jodl 1am Jf e w5l 1oty <—
False a3l 5> 7 Ladw /True Qiltl 7> 5 o Jtadl Jw ile il (po pol
il o 8l gl daydll cuils 131 Lo Gény joyl Ao (Jl adgi ) <— (<):gp0 Jol
False Qilill 5 <3 Loy True Qilil 3 < 5 ol Juw gl
gDl doudll cuils 15] Lao ganiy jol lam i e sl (>2): gy < (>=):grgluty g (o !
True il 5>=5 ol Jw e alil dagall gl gl o pbl
False Qill4>=5 Loy

(>) o uol

gl (o JsT gugll dagall cuils 15] Lao Gaady oyl 1am Jf ausgi i)
6 <=5 Laiy True a3l 5 <=5, Jliall Jw (e apll dagdll aglui < (<=):1gluyy ol go U8l
.False aJ'UJI
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.Conditions bguiul :aliol Jx - gili

.audhiall Oldasll gujai aic ade 15l pleoll gile wnyg Lo

: (and, or)audhioll clylasll e Wil

\Jouiti llosll 02 g 15T gl b i o goal) padiwd duahiol Gllasl

daunn bgpiul 5 culs 13] True: aill:And

B bapidl (o aalg Joll e s 15] True Qilill:0r

1 a=2>5

2 b =6

3 c =17

4 print(a < b and b < ¢c) # True
5 print(a > b or b < ¢c) # True
6 print(a > b and b < ¢c) # False
7 print(a > b or b > c) # False
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k=2

.Conditions bgpiul :éliol Ja - by

&b pidl Jlgal A pinl aliol

awbpiul Jlgal plasiwl pd wweather J s Jiao] pasiuall po wlhy Uil 1o 16
alaaall dogall e ali duwliodl dlwyl 1221 if, else

:alAuall

asu 13l wow Ulg @kl pariwl loaic jhai elowdl cuils 15] b aolip alis

o glyes aioud g weather piall ;LA 10l

o glyes hgluo weather Jls i 16 Jli6 318l :ax Lzl

Al
ves Lgluwo weather 15 13] " will use an umbrella.” aclib - JLogi JUio
.no Lgluwo weather (L5 13] "I will wear ahat " aclib - i
:auojjloall aulis
aolpllagly 1

(isitraining? Please answer yes orno ) oA iuall leéw 2
aklliéehs .3
(Twilluse anumbrella.) gibl (yes) oei wk Ul cils bl -
(Iwill wear a hat.) gubol (No) U Ul cuils 151 -
aobpllaylgi 4
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- Jiall Ja gl

: FlowChart oail dn A

/Ask :"ls it raining ? /

Y

/Enter :"Yes"or" No/
print No
"l will wear a hat "

Answer=="Yes " ?

es—>, print
" 1 will use an umbrella ”

:aun ol Gloyeill

N O 0o N NN

#ooahl Aa o jly dedll ol Alhdl aladii) saay =l
print(" is it raining ? please answer yes or no ?")
weather = input()
if weather == "yes":
print("I will use an umbrella.")
else:
print("I will wear a hat.")

& Yl

it dh

C:\Users\HP\PycharmProjects\pythonProject4'
is it raining ? please answer yes or no ?
no

I will wear a hat.

Process finished with exit code 0
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Conditions bgiul :aliol Ja - gli

(15) aphi Jlio Ja

aamagoll Goaill dnya ale el adlall 1giuo joj cuun Sldgpialll ndll basll jphy J1AU aolipdl Josiwl
olpllalh Aog Ulhao angg . aleiall JUS 10

: Aol Ulod=ill

1 energylevel=input("Enter energy level code: " )
2 if energylevel=="K":

3 print("Energy level K ->",2)

4 elif energylevel=="L":

5 print("Energy level L ->", 8)
6 elif energylevel == "M":

7 print("Energy level M ->",18)
8 elif energylevel == "N":

9 print("Energy level N ->", 32)
10 else:
11 print("Invalid input.")

Run energylevel_Answer
@ O

"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"
_Enter energy level code: N
Energy level N -> 32

léf

Process finished with exit code 0
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.Conditions bguiul : Ja=ll gljgl Ja
Ulhdioll e alogndll wlwn yoliy : (11) Joc ad)g

UlognAll ddlal laog wiladio elpid agdlgll dalAil Cudy Qoliy orani:dlsidoll

.ail=oll
total _price uhiial uloa U=l - UA 20l
:aJleall
liodl jpuw ile el oAl doud (jaig ulaa Ul jpull doud o gaadl - -
discount poioll 16
J10 Las final —price poioll 16 oAl Guhi aey ulgll jpudl wlwn - -
:albleall

final —price = total _price — (total —price x discount)
final _price pilgll joudl aclib Al

:auoj)lgall Jocddjq
obplagly (1)
Adiol) yulea Ul yeudl paniwadl o Jubiwl .2

‘Juloa Ul el Goud Jo ganil 3
11000 (po pbl ATial jow s 3] =
25% duuly oAl conal - -
11000 g 500 (ju Lo agliy uloal el g5 15] - -
15% awuly ool cwal - -
500 (po J81 uloall el 15 15] -
Looxng -
onall guhiae) gulgill jeudl olus .4
Julgill jpullaclb 5
2ol dulgi 6
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(1) Jocdd)g Ja i

/ Enter total_price /

:FlowChart goaill ahya

Is
total_price = 500 ?

No

v

discount = 0%

Y

discount = 25%

discount = 15%

A 4

h 4

final price = total_price - ( total_price * discount )

v

print
final_price
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;a0 Sloyle il

Code

7 calculate_final_price.py *

1 #Get total price from the user
2 total_price = float(input("Enter the total price of the products: "))
3
4 #Determine the discount percentage
5 if total_price > 1000:
6 discount = 0.25
7 elif total_price >= 500:
8 discount = 0.15
9 else:
10 discount = 0.0
11
12 #Calculate the final price after discount
13 final_price = total_price - (total_price * discount)
14
15 # Print the final price
16 print("Final price after discount:", final_price)
Output
Run calculate_final_price
Q B

"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"
Enter the total price of the products: 1500
Final price after discount: 1125.0

Process finished with exit code 0
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.Conditions bgpiul : Jo=ll §ljgl Jx-gili

Julall o Pl dope ol aolipy :(12) Joc dd)g

o1 ol Ul apj dlla (Jo Gy "“a.OU_j_.JrO.l.QD"IQl" Hi0ll
01 1uall (o balance vl doud Judiw! (I U210l

(3a0) (o j20l gl (Jan) (o pbl gl (Jan) Lgluo s 15] oyl dous (o Ganil :ax)lall

Aol
-(jop) dygluo 1o Pl dayd culs J 10 (no balance) acub -
(o p5l Aoyl days cuils Ji 1o (Creditor balance [balance]) aclib -
oo Joc as)g
0 Jeol un il doys cils Ji 10 (Debtor balance [balance]) acub - (12)
(1ao)
:auoj)lgall
aolplély 1

JIHLE 0615 oyl daud parbuall (o Jubiwl - 2
upjllaos o Ganil 3

" o) gy ' dclib oo (gl ol b 15] - -

" [awol] il un)" aclb oo (o pbl ol gls 5] -

" [l (a0 ao)" dclbyan o Jbl ol gls 13 -
2olipléylgi 4
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1 (12) Joc dd)g Jo gili

: FlowChart oail dn A

Enter account balance
if balance = 0 - " print "
no balance

No
p print
ifbalance = 0 No™ + debtor balance " EnD
Y
Yes
v
print
" creditior balance "

:aua ol Cloye il

Code

2 checks_balance.py *

#Ask the user to enter their account balance
balance = float(input("Enter your account balance: "))

1

2

3

4 #Check the balance status

5 if balance ==

6 print("No balance.")

7 elif balance > 0:

8 print("Creditor balance: ", balance)
9 else:

10 print("Debtor balance: ", balance)

Run checks_balance

"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"
Enter your account balance: 0
No balance.

&l

Process finished with exit code 0
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.Conditions bgpiul : Jo=ll §ljgl Jx-gili
cuwl &l proni yoly :(13) Joc ad)g

awlwnl ludoell 4468 16 (/1% - +) dwlwal alloleall planiwl :alAidioll
(Gl Al 2 phll g o)
A0l
Julidlg Jall a9l paniuwall (o Jubiwl -
wglholl ulwl Joleall paiurall jo Judiwl -
auglhall aylwnl aylasll 1401l bgpill olariwl e oll
Aol
.uglhall aylundl aloell iliacub -
" Error Division by zerois not allowed" acub -

-(100) bgluwo (il 229llg / dybuall ddoell cils Ji 16

Jewlirho joj Jhol Ju 16 "Invalid operator " dcub - - Jacadg
(/% 1=+ ) aulwadl slloleol (13)
:auoj)lgall
aoblagly 1

il 2l ad | Jolll 529l paxiwall (po Jusiwl .2
Jglhall Jubwall Joleall pasiuall o Jusiwl 3
:Conditions bgpill olaniwl 4
(Julillg Jgl (poasell gany o+ Jaaall Joleall gls 3] -
Jollipawll (o il 520l Ay - JAasll Joleall gls 15] -
g JgDi paasll apay * Jaasll Joleall gls 5] -
il 52l (po Jgll 1wl sy / Ja2all Joleall o 13 -
(el a7 &llw) aclibg yan agluw U Julill 529l (o 250))
Aulwndl adasll Jiliacub 5
aolplaulgi 6
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:(13) Jocddjg Ja i

: FlowChart goail dhhya
<>
4

Enter
num1, num2 , operator

if
operator Ture—»
wan

False

if
operator

False

if

operator Ture
wan

False

if
False’ Tme¢
e

True False
v
print

can't divided print print
by Zero num1 / num2 " wrong operator "

4 y 4/!}(1\‘

N
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{(13) Joc ddyg J b

:aua ol Cloye il

Code

#2 Calculator_Answer.py

1 #Conditions and math. operator

3 numl = float(input("Enter First Number: "))

4 num2 = float(input("Enter Second Number: "))

5 operator = input("Enter Math. Operator(+, -, *, /): ")
6 if operator == '+':

7 print(numl+ num2)

elif operator == '-':
print (numl-num2)

10 elif operator == '*x':

11 print(numl * num2)

12 elif operator == '/':

13 if num2 != 0O:

14 print(numl/num2)

15 else:

16 print ("Error Division by zero is not allowed.")
17

18 else:

19 print("Invalid operator")

Run Calculator_Answer <

"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"
Enter First Number: 100

Enter Second Number: 2

Enter Math. Operator(+, -, *, /): /

50.0

v k4

Process finished with exit code ©
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k=2

.Conditions bgpiul : Jo=ll §ljgl Jx-gili

(Bulunl adosll elpl) andleol) ejy @ols] -

ol aaiactlioghs lgr - (B)J—ocddig
Aulundladaell A1l (yjad oy result peio dold] Ul Jiall oo - &l a 7 20l
duwh

: FlowChart §oail ahya

Enter
num1 , num2 , operator,

if

result =
num1 + num2

operator Ture:
"

!

result =
num1 - num2

Ture »

T - result =
ure

num1 * num2
TrueTure
False

operator
e

E

False

. print
L, pant cant divided
wrong operator by Zero

‘ print result




: (13) Jomll a8)g) AT Y~ — @il

a0l alod=eill

1 #Conditions and math. operator
2
3 numl = float(input("Enter First Number: "))
4 num2 = float(input("Enter Second Number: "))
5 operator = input("Enter Math. Operator(+, -, %, /): ")
6 if operator == '+':
7 result =numl+ num2
8 print("result:",result)
9 elif operator == '-':
10 result =numl- num2
11 print("result:",result)
12 elif operator == 'x':
13 result =numl* num2
14 print("result:",result)
15 elif operator == '/':
16 if num2 != 0O:
17 result = numl/num2
18 print("result:", result)
19 else:
20 print ("Error Division by zero is not allowed.")
Output
Run Calculator_Answer_advanced =«
& =
"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"
Enter First Number: 10
Enter Second Number: 20
= Enter Math. Operator(+, -, *, /): =
= result: 200.0
=
& Process finished with exit code 0O
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mlle
Loop lyaill : juolall jujall

ol LWl algguy lauleill (40 Gcgano i jiAi el Aulig daopl 1o alog dugs Wigal ayliaill Clalnl
Gblac JuAaai o uji alalaiall lall olariwlg layleill o dcgiio degono gl Jliaill uaiieliaoy for while

At Auaii duaral aoliballg aanill o 1) jo wuai continue - break Jio a4l Jlgag wibgiuall 631910

=

_—
.Loop jijaill :yugjall A

— (while loop) ayyliadl alaladl

duwljd dm
(while ... else)
duwl)d dnn (forloop) ayjliail aan
duwljd dm (Nested Loops ) aalaiall culalall
(Nested Loops) alalaioll ]l )i
duwljd dm [ breakK)alls

.(continue) all>
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.Loop 4l :aleUl UL

-@aopll 16 Jliaill pggao ilc ol

adénin bgpiul ciols b polgl uaill (while) dyjliaill aall olaAiuwl

awsyl ulslalg adigall Jio polic g jJiyaill ( for) &l planiw

[(Range) alall cilolariuwl  ilc il

JATI o g (1o 151 wlhii 61690 (Ao Ja) Nested Loops alalaio CljljaT A
aulgi Ulo ul uaop ilawdes uaii jlyail (while true) allall plaaiuwl

(A0 b §ang aic ayjhaill aaldl po agall (Break) dunopl dadeil planiwl

Jolall asall elgil Jg (ueo Jiai bl (Continue) dayeill b bgi
sl dlac 16 a4nil) (Break) g ( Continue) ol laydeill pladiwl

il elgiil a9y Clouleill 14415 dutus agal (while.. else) dolell duiwl 022G A piy
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.Loop jliAill :apnquwlhh Jhhlhno

Object (plall

Loop jiaill

While éyjljaill aalall

)

Nested Loops alalaiall alylaill

lterable jiail Lo

}4

Continue dauopdl dooul=ill

85

For dyjlail aaladl

Infinite Loop auwilgi LUl culjliaill

Initial Value aulanll doudll

BreaK duxo pll doul=ill

{(@l);

Range allall




=

=
.Loop Jijaill :an Jido drod 1ei Juayiliwl

Al bladl awdlio (Jaoy (while) Jiiaill oggao e Wil jlgallg dudliodl dryliiwl olariwl
1o s dub pb dlon (Pleiwl 19
x=1
if x < 5:
print(x)
print("program ended")

Sl anvopll Oloweill piligolo @
7 gluti X peiall aa cuils 15 dnopll Glogeill Jiligo o @
2 (print(x)) &unvopl dogleill Aaiiw Al lpall 5ac 05 @
S 13lo (while)  (if) Waiwl gl 15l @
while aaibg o O
€w6qi (Jga poiwo Jauy (1) adylaclb aiy ol bla) @
Ladl> ganiy buidl i Ul 6jLsll O
calaiiall oam gl Lilpii s @
by §877 1gid 1)12600 x yeiall lado 834 Jio o dlapo 16 agiiy liaill b i O

5 piall doud (Jgay oaic jliaill
breaK doy=il olariwl O

JgAn s plaaiwl Jaoy cun (for) Jliaill oggao e wyeill: jlgallg éuitsliod] duiliwl olaniul
?wogdl Ll 3D aeiiall ciighAall am Lo éullll go sl sikac Jlias aulbl

Jnall 16 Al ol 65 el e

Juduwill elowll 6elis @

Jnall 16 03g2g g 0)uc o ALl @

.03g2g 02€ (4 16 JUE oleiall wbuinl - @
o pill g6 jlpoiwl poduy (while) ATl gl cun (for) g (while) jliiaill dulac (u §pall J ppodl oag)
Jhaildglac elin g (Qlell its 16 paleiall elowd Jio) poliell po degano pariuy (for) Jiail Lol
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k=2

allle
.Loop Jljaill :aliol Ja
.5 Ul 1o slaclil aclih while dyylail dalal plariwl : (1) JLio

5 Ul 1o slacl aciin) while ayjliaill aall plaaiwl :dlAiiill
algill sl i jhail gl b (po 2y U while allall plasiwl aic praleioll e 250l
20l A0 12T praleiall il sl e LA 2ol
2ol il Ao ang uadeiall gle sl il Aol JLio
- (Loops)lélall 16 &5l dpuigl lighall apd e sl o jjlgall alis ()
Jadl JUA (o
dadeill 16 Jiaioll aalal eay Ju6 poial ddlail dogd 13T ody ueioll 1jand 1
" (number = 1) duxopl
aall o gy low s (number <=5) go adlall 16 pariuall bpidl asgill bpb .2

Al aulgi 5 (o psinumber éaud auni Loaic Ao giiw
(number +=1) aalnl Al :poialldableo .3

/ Initialize number = 1 /

True

False
/ print number /

y l

/ end loop / number += 1

: FlowChart goail dnjA
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(1) Jlio Ja guli

Code

P 00 9 O U1 DN N N

# il peas
number = 1

#

while 4l danl @il byt 5 gihe sf B o JiSl

while number <= 5:

print("Number is:", number)
# Bl Lyd ) Jead leal il Al

number += 1

print("End Loop")

: ol Clogleill

» + C:\Users\HP\PycharmProjects\pythonProject

yd

m g & Yl

End Loop

Number is:
Number is:
Number is:
Number is:
Number is:

1

g DN wWN

Process finished with exit code 0

: For ayyial dalndl olariwl Juodl yudi Gy

range plaaiwl Jiaill Glaig (number) peiall yani ol 1
.range (start, stop) dll> pariwi .2

5 Ul 10 801 b0 Julusi eliiy) range(T, 6) @la paniwi 3

.62 )20dl doydll L Joleill duaisbqg range dllall gule J._l_5tl'.||

.range(stop) @

.range(start, stop) @

.range(start, stop, step) @

s ol logleill

# S8 glaig yuidl wasd fop Al alaadl

c
C

1
2
3
4
S

for number in range(1, 6):

# AN dels
print("Number is
print ("End Loop ")

2", number)

> r

&~ L Number is:
— Number is:
B -
w Number is:

= _ Number is:

» E Number is:
®  End Loop

1

2
3
4
S

C:\Users\HP\PycharmProjects\pythonProject

Process finished with exit code ©
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k=2

Code

4o sy ilaleil (4o Acgae ual duloc go daopul 16 (Ioop)lyail i ke sl

Loop Jlyaill :éliol Ja - yli
lgitulho g jgpall dals JAo| : (7) JL—io

while ayhaill aalnl olaaiwl JLt

e | 7
A0 bl §and) g )

: ol Clogleill

N O o N NN

(o]

# damaall g dll AdS aaas
correctpassword = "1234"
#opsiad J8 G Al ol RS G55 3 A2 0 Alde password s Aug
password =""
# oo Al dalae e @asdl
while (password != correctpassword):
#os Al 5 JAaY) sl e bl dasia e el AdS cals 1)
password = input("Enter password : ")
# -l Al okl dathdl G 1)

print("Password Correct.")

Output

>
y

e dl

m g

"C:\Users\HP\PycharmProjects\pytho
Enter password: 111
Enter password: 121
Enter password: 123
A1l attempts finish.

Process finished with exit code 0
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for ayylyaill aalal olaniwl ;AT Ja (7) J—io Ja gili

:auaopl Glogleill

7= loop.py

# Llay amied) o o 80 daanal) 2K
! N Y :

2 correct_password = "1234"

3 # g zsesd ¥l 2o

4 for x in range(3):

5 password = input(®" enter password : ")
if password == correct_password :

7 print (* password is correct *)
else :

print (® password is incorrect *)

Run: loop
> enter password : 555
I password is incorrect
;o L enter password : 1234

password is correct
enter password : 127
password is incorrect

l« ¢l

Process finished with exit code ©
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k=2

Loop Jlyaill :éliol Ja - yli

G jgpall dals pariurall Jio] dlglao aic tha dlw jgky polip : (12) JL—io

.aiblA 6)gny U0

;w0 Gloyeill

) attempt.py

<

s fal s

# das
correct_password = "1234"

7 = T sl »;‘_r'_;,_xf_]' Qe
attempts =3
# o¥slaal 2o Al

attempt_count = 0

#_,'_5_)-"-.‘. iL.K 'if..'f:» e Eiadl!

o =

while attempt_count < attempts :
. .

#;_L__,._" all e _;_5),;..:' ALK _:._~._ —
password = input(" enter password : ")

Hoisaadl 2o sl

attempt_count +=1

# ooasd i€ e sEadl)

if password == correct_password :
print (" password is correct *)
break
else :

print (* A1l Ateempts finish *)

Run:

>
y?

>»

A attempt

C:\Users\ali\Desktop\python\daleell0-al\.venv
enter password : 112

enter password : 668

enter password : 920

A1l Ateempts finish
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=9

Loop Jlyaill : Ja=ll Gljgl Ja

.3ac (oai polip o (14) Joc Ad)g

aic (ool 329l 20 aolipl aijlas of bhyap 1bac o iuodl (Jody aolip awani :alsudoll
((player_number) ac ool (o Jbiuy U210l
:aJleall
.(correct_number) >ac (jc glcll 1
kﬂ_o Jall (correct_number) aanll a9l (player_number) Jaaoll daell djjlao .2
2l 519l paATuLell (e 1ic GGl Cun dijlaall Jljaig Aol
aijlanl 2z dlla Al duwlioll 6jlsll aclb il Aall
:ayojjlgall aylis
JHLpILE (I G52y (BMI) ouunll GlIS pbgo doud Gyl e
BMIJI éoud e &l annll Al ang e
(an e aows gl p6) Ju (i o) Jiol 1o s sgag g 1o el Jilw) o

—_

ol dyly
aipani uglhall 529l agluy peio e gLl
01wl (1o ane dac Judiwl
:adwlagidl u’LO banollbaellgo Jaaallbaslladiho

JBouladdac 16 pariutoll poiung pbsibaell allw) iy pbl s 13l -
JBaoul mdmpw|wgm| 229l allw) puhy jool b 13|
.ol ngiig wyeall sael Gilho Jarall 529l dllw) dclib
2olplaulgi .5

IV N

92

Jocdd)g
(14)



1 (14) Jo=ll 88)9 > Ui

: dun ol Loyl

1 correct_number = 8

2 player_number = 0

3 while player_number!= correct_number:

4 player_number = int (input("Guess what's the number in my mind: "))
5 if player_number > correct_number:

6 print("The player number is higher.")

7 elif player_number < correct_number: #if the number less

8 print("The player number is lower.")

9 print("Correct! well done.")

Output

Run correct_number_Answer >

"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python" /
Guess what's the number in my mind: 9

The player number is higher.

Guess what's the number in my mind: 7

= The player number is lower.

=  Guess what's the number in my mind: 8

o] Correct! well done.

Process finished with exit code 0
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: (14) Jac adjg) aoUpl pghs

Ulgdic 06) gl - (14 Jac abjg) Gl aolipl g )

Code

NV 0 9 00 o &N NN e

#30 - 1 oe gilste o3, sl
import random
correct_number = random.randint(1,30)

player_number = 0
while player_number!= correct_number:
player_number = int (input("Enter a number between 1 and 30: "))
if player_number > 30 or player_number <1:
print("Please enter a number between 1 and 30")

10 continue
11 if player_number < correct_number:
12 print("The player number is low, Try again.")
13 elif player_number > correct_number:
14 print("The player number is high, Try again.")
15 else:
16 print("Congratulations! You guessed the correct number.")
Out put
@
"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"
Enter a number between 1 and 30: 15
__ The player number is high, Try again.
- Enter a number between 1 and 30: 10
=Y The player number is low, Try again.
= Enter a number between 1 and 30: 13
o] The player number is low, Try again.

Enter a number between 1 and 30: 14
Congratulations! You guessed the correct number.

Process finished with exit code 0
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Loop jiyaill : Jo=ll §ljgl Ja euli

Al Jgaa aolip :(15) Joc dd)g

2230 019) WAl g iy aoliy asoni :dlsddioll

s plllull Jgan dcub uglholl ba9ll Jusiwl : A 210l

sl plarTwl Uyl ATl Ul dyjlad adls clid] :aaleoll
AT poio aaud * JAaaall 239l =il

Aol
(Multiplication table for) dllwj acub -
JAaolpagly plllupdll Jga acib - -
:ayojjlgall aylis

aolpldgly 1
a pidlgmll Jgaa dcub wglhall 529l pariuall (o Jubiwl 2
(JA280 290l Uy Jg1n) dllw) dclb 3
.’IZUUHU_OJIJ_CJEJILJLOKJ'AJ.QJIJJ&JILTU.Dch;.bJ('iTUIJdeﬁ_lAth.Lil 4

b dunol Ologledll aglis -

ALl pio aoud * Jarall >asll = Al

g acub - -

aolildlgi 5

Jo—cas)q
(15)
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:(15) Jocdd)g Ja il

: FlowChart \goaill ahya

/Enterimegernumber/

|

Print
" Multiplication table for number "

Is _ .
No i<=12 es—» result = number X i

v
/ Print (number , "X" | i, "=", result ) /

i=i+1
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:(15) Joc ééjg Ja Ui
:éun ol loydeill

# multiplication_table.py *

#Ask the user to enter an integer number

number = int(input("Please enter an integer number: "))
#Print a message showing the table heading
print("Multiplication table for ", number)

#Use a loop to print the multiplication table from 1 to 12
for i in range(l, 13):
result = number * i

O 00 9 00 o1 N NN

print(number, "x", i, "=", result)

Q0@

"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"
Please enter an integer number: 6

Multiplication table for 6

x1l=256

=12

= 18

G @ & 4Jl

NV 00 g O o N NN
1
W
o

[EEY
o
I
o~
o

o~ 0 6 0 6~ O~ O~ O~ O~ O~ O~ O
IRy
=
]
o~
o~

X X X X X X X X X X X

=
N
1]
~
N

Process finished with exit code 0
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Debugging and Exceptions wleliliwllg elhAalll agani

Jlioy cun gl el daopll 16 ULwUuT Jloggao law (Exceptions) Glelifiwllg (Debugging) elhA Ll annj
Sladeill (o (gl gl elaalll) elhalll aljlg pand dulac 1o elhall ani . ol pghi dulac (o g 18ja
JAauin Jasll e aolipl @bgi 16 wwiig aolipl Aaii eliff ¢ang aesgio pe Gl 1o Glelifiwll Lody ol
Runtime ) Jusditill cudg elhalg o (Syntax Errors) éygelll elhadl: Jio aeilidl elball e Gujall 1am 16 b e iiw
.(Logic Errors) auahio cLb'ATg (Errors
Ul Jainoll o il ol dilauleill e ol cun wlelibiwdl 2o Joleill (except) g (try) Cljuc pasiuiw Loyl
(except) alib JAb elifiwll go Joleiiw il anopl clogeil &lis alg (try) &l JAals i
Jasiu aolpl Jusids lowg Jsbivadl ciadl laglac duaral 1an lgo wlhiy alelifiwlig ethall aang jlaial

61>l elhAa il abin 197 8elaAy ainlleng aldaig hall jano giii 16 (Debugging) elaall ani viljlgo pleiiw

a0 ol elihoy asulioll opad tia il oF ol 6 jauidl (o 11l ljhw Juiy cun elhAalll udeil 61100
laoliy Juedd JUA (o qoliy pac (o diyeo o il 16 Gipsiall 16 65gagall @l padl oy il cisgll
aayjhll oam plariwl elhAalll Adio 2o

il o gledl @nll 16 “Debug” elha Dl A 1j il jaill JUA o jjaodl elhal adio go aolipll Jisuiti cliday
URun'Jauiad] Jj il

Jjg"Step In" Jjg"Step Over" jjg "Continue" &eilioll Jj : 1og Jjaadl el Jul 6232 1ljT AT elba Dl A48 pog iy

. LA "Stop” «aogil jjangig “Step Out”
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Debugging and Exceptions2

duwlyd dnn

. Ulelidiwd

=

=
lg elhAall aani yugyall dhA

(Exceptions) Wlelifiwdlg (Errors) elhA Dl pggao

 Errors ailidl etha Dl clgil

.(Syntax Errors) dugni clhAl =

((Runtime Errors) Ji2uiiill cuog clhal - =

(Logic Errors) ghiall claal =

Exceptions Wleliliwll go Joleill @

Ulelitiwll g elhA Dl apani/ 91l

try / except cunopl douleill @ l 2 |
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==
lelift wilg elbA Dl aani: aleill GLL

ol 16 (Exceptions) Wleliliwlg (Errors) clhA Dl oggao il Wil

Runtime ) Jusuiill cusg elhalg ((Syntax Errors) éugai elhal: Jio a=ilidl elan Dl glgil  juadll
(Logic Errors) ghiall clhAlg (Errors

.ol =l aclgo clil pac wuul yghad il (Syntax Errors) cugelll el Dl juai
- G6gio pe Ogid ani polpll il QUJ'T}gqutUI (Runtime Errors) éuUall elhAa Tl juai

(Runtime Errors) Jiuiiill c18q elhal glgil (j ol

0 Lgotiist oy aR6qio jc gl Aap },;Cajm}gbngHI(LogicErrors) auahioll elhA Dl juai
-0l

(TypeError - TypeError - NameError - ZeroDivisionError) lgiog il e liiwl EIgJ'T Jlc woeill
Unalaol andgi giog polipll jhaiwl (lan) (Exceptions) WleliliwUl olariwl

(92 ailjlpaiwlg 2olipl 11aii elifl ddgioll clhalll 2o Joleill try/except dunopll douleill olaAiw

.004q]
-6ghAy 6ghA dino i loeill Agaii dsyliod elhadll epnjolg:ﬁ 20 Jolul

.Oclasay ainlleog alag "gT.Iﬂ'AJIJJ.QD g,LIJ’QLO(Debugging) clhAadl nnjUljlgo Guhg
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Wleliiiwllg ethAll ani :dugquwhll allhnall

_

Debugging elhA Dl aani Errors clhAall
o=
=
Rumtime Errors Jusuudl cioq clhal Syntax Errors dugll clhAadll
ZeroDivision Error jan  silc Gouwdll Logic Errors duahiall clhAaldll
rQ\—: |
Type Error axao pe Glily cqi Name Error @0jRo jc ioio
=
Try o pdl doouleil Value ErroruULgJIggiJ uwlio pe aoud
Finally duo pdl aliall Except o pll douleill
n
D—
[©) ey —
Step Over/Into Al gli jhuw 2145 BreakPoint «6gi dhai
‘ T
A
Catch-all Exceptions dlold cJleliiiwl Specific Exceptions 65120 Glelidiwl
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Jul g aghul e aiuwg Python deiliul elha Dl apani cilsi e g oLl

print() 0l2alwl aclhll

gl Wlpeiall a8 &gy dunop Clouled avy print() pol g elihay cun  hunll uglwlll
lghAll o Ganill

(BreaKpoints)wdqill blaj

OO0 Jaodll (o jhuw aic i8¢0 anopll dodeill wlayl el Al PyCharm 16 610 1@
bghay 6ghA dunopll Slowleill (o Ganil gl Clpeioll aud (ano

PyCharmo thall Jilw) 6218

.a26goq hAll £9i a0j20 e EJacluidnao lha Jlw) p=y PyCharm

ol Olo=ill 46 comment &ulib

- &l (gblaall) elja Ul aungi gl dunopl Cilowleill Jo bagl A pid

try/except plariwl elhAall go Joleill
acluty 8o aolipl gl glol try/except plarniwl yaay lha Ggan gdgill @ 16
.0 ol anin gl Jilw) pogig elhAalll 2o Joleill  slc

elbADl anni) oliaill (1o lopcg
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=]

mllln
(Syntax Errors): éyglll elhA 1l silc aliol
bl N
o (JLio
. print() al> J10 ywgdll G L] o

s auo pll ulod=ill
1 X =5
2 y = 10

3 print(x + y_

File "C:\Users\HP\Documents\pythonpart 1\1-1.py", line 3
print(x + vy

A

e Yl «

SyntaxError: '(' was never closed

1Al

e R (2)JLio
(Loops) il gf éub il Jaal 16 (2) pihail

;g ol Gloyeill

1 if x > 5
2 e print("x is greater than 5")

SyntaxError: expected ':'
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: aygell elhA Il nile ay6Ls] éliol - yli

o ygay Loaic bangg Indentation Error go duno pll dauleill 16 hadl L
Python 16 aopll apagleill 16 (@aljl) @l dolwall 16 alaiiio Jio

: duno pll Loyl

1 if x > 5:
2 print("x is greater than 5")

Output

print("x is greater than 5")

A

m g 1€ Y

IndentationError: expected an indented block after 'if' statement on line 1
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=]

(Runtime Errors): Juuitill ci6q elhAlll sile aliol

J10 20Ul Jyudii cidg 16 elara bl 0am jghi (asaiill cliar ql) (Runtime Errors) Juuiiill cu6q clhadll
JAuiy dlaall eliy (40 Gl ai ail o a¢yll Gl dygaill ailis f a¢y Sililac gl LA o Cuuy o] Python

Glagleill Jyuiti clifl déqgio ué logb (gl dlla 16 puaall ql) @2 iall aalgy Loaic ¢ani Lo lleg ann
Aol

dulac o ulillg Joll pioll Ao 3ac dats Jiob pariuall oghy Loaic - Juiduill cug lhall
dowdll aulac 361 xolpl Jglay (var—y). aule ogudol 0 doud JAol dic Jalg ann JAddy doudll (1)Jlio
il Jguso pé ol gog .. janll e dawmdll oy aolipll 16 tha gl 15810 var—x / var_y

Zero Division
dauno olacl JAob wuwlio Jadu hall 1am go paaiuoll Joleill ai ol 13] : d2ogioll axyiill Error
- Jo=ll (e wadgiuwg ( ZeroDivisionError jlapl aolipl ogduw)
: auo pll wlo=ill

var_x = int(input('Enter first number: '))
int(input('Enter second number: "))

var_y
var_z = var_x / var_y

N NN

print(var_z)

Output

Enter first number: 6

Enter second number: 0
Traceback (most recent call last): @ Explain with Al
File "C:\Users\HP\Documents\pythonpart 1\main.py", line 3, in <module>

var_z = var_x / var_y
~~~~~~ LAY T PNPNPIPY

m g & Y«

ZeroDivisionError: division by zero
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a2l cibg elbAa Dl ale duoly] éliol - gl

0)20 1€ NRio qo g X peio oladiw | Judiill cusg Uaall

U p2inll i pirdall itia) boaic Jigdill c16g lhall G w Lo saesgiall angill - (2) L0
.Goud e niging - Name Error

X}mnukguup@mqu_mugmulum

:aun ol Gloyeill

Code

1 print (x)]

» T Traceback (most recent call last):
File "C:\Users\ali\Desktop\python\daleell0-al\.venv\1l

}o T print (x)

A

=D NameError: name 'x' is not defined

Qp K1 ge y piallg (string) dunj dlwlw go x peiall @ Juediill cuog lhall

call lha Jdgan 1] L"fIJ@,! Loo bl (o el (yam (Ju Gogeao e + goall dulac (integer)

(TypeError)

. . e . . e (3hJLJﬁ
92 yul 12g) Lo bl (o (pegill (pam ( dogeao pe + ol dloc :axogioll dxuiill

(TypeError) ggUIib'A Type Error

clisay ol Juiall 16 .damnll bl glgil go dogeaall illasll paxiu elil (o 2501 elide iny

i Gl anllea Al daiyb olaaiwl clihoy glgaal 16 duni dluw (Ul anall saell g

aahll
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a2l cibg elbAa Dl ale duoly] éliol - gl

Type Error (3)JLio - i

ol Oloy=ill
1 X = "Lyt
2 y=>5
Z=X+Y
4 print(z)

Run: 1
> 1‘ Traceback (most recent call last):
File "C:\Users\ali\Desktop\python\daleellf-al\.venv\1l.py",
}! 3 zZ = X + Yy
oo N oo
5 TypeError: can only concatenate str (not "int") to str

Ao 1320 e " s Jusidill ciog Thall

auld juc¢ auni aludw o038l | Jaol o iwoll gl ValueError (U] 153w : dedgiall axiill (4)d|_LD“
2pnooac gl il - Value Error
280 320 Ul JJoail) s dogd Qs (i

: ol Cloyeill

Code
1 int("i")

‘ r_l

Output
Run: 1
> 1 C:\Users\ali\Desktop\python\daleell0-al\.venv\Scripts\pythor
Traceback (most recent call last):
;; J' File "C:\Users\alil\Desktop\python\daleell0-al\.venv\l.py",
int(*i™)
5 ValueError: invalid literal for int() with base 18: "i°*
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(Logic Errors):aushiall elhAlll  silc dliol

Josy aobpl (JT JL= Lo iaopoll J16 (o WQuiaiq lgoluisl (Python Interpreter) puaodl giaiug I clhAl JLo
16 JA) @i iy Gand elbAll0am .dapao e gl =dgio pe Al jghy aiblg wasgi gl danlg J5Lio (jgo
Wldowll 416l duals gngeDUml\gbm" '

J10 6)g520ll5 (o pol gﬁ10 U1gluy X peiall aoud aolipll cuung) X<5 auno pe bpidl: 1éhioll thall
-ano gog "xis greater than or equal to 5" uh aolpllg (bl (1) JL1o

E olaaiwl
auny byiul 22713y 10 (1o JsIx (15 13] Lo Ganill bagl (s 13): éedgial| aiill
Toifx | HEDHY

Ao

bl 129701246 10 go Yol x b 13] lao ganilige wagll gls 1]

: duno pll Loyl

x = 10
if x < 5:

print("x is less than 5")
else:

g DN NN

e print("x is greater than or equal to 5")

Output

X is greater than or equal to 5

Process finished with exit code 0

o e Y«
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(Logic Errors):auéhiall elhAlll ale éliol - gili

U9 poduro JAauiy count pgiol auglil doudll acling ogay aolipl piay: siihial | laall
aglgi Jaala Ul x4 lao .aiyang ofy U yeiall gl bsgi

ANl e . P (2)JLio
Y10 010 J5 (16 1Jazoy ujy gl ke peinll aold| wing glb: dedgloll douiill
Ba AT 5 16 peiall i gijg count+=1 aylail

:éunoll Oloyleill

1 count = 0O

2 while count < 5:

3 print("Counting:", count)

4 e # count += 1 # bl ot me ) Jd e gl &

Counting:
Counting:
Counting:

m g & Yl <

Counting:
Counting:

o 0 0o 0o o

-adlil aublidl jghi Ctrl+F2 gi Stop 6151 jilc horll a9
Out put

File "C:\Users\HP\Documents\pythonpart 1\main.py", line 3, in <module>
print("Counting:", count)
KeyboardInterrupt

e Il «

g
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(Logic Errors):auéhiall elhAlll ale éliol - gili

: (Logic Error) ndhiall lhall
assgiall daiill he) U aislg Agaiil eliff elhalangy g ano JAuin Jas) aolipl (3)Jlio
Jthioll hino Olwal 9o pladiwl ai @bl 0o 16 oaxiuall ghioll 16 A Cuy &jléo
- Jihiuwadl éaluo (o Uay LA
s aunil 8l Jiaed uaus 8 luoll ulws go Wagll:dssgioll il

. AI b
(var—area=var_| *var_w)
: ol Ulol=ill
Code
1 var_1 = S
2 var_w = 6
3 # Lol bl 4guad) Adally o daluaddl ciua ogthaall
4 var_area = 2* ( var_l + var_w)
5 # Al 4ol
6 print('Area = ', var_area)

Process finished with exit code 0
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relbAll anni
:JUo

X = input('Enter first number: ') #ox osadl 8 Jaadl a8
if x = 0_ #oial e x Ak
print('x is equal to 0.')

else:

g DN NN

print('x is not equal to 8.')

Logic Errors dudhiall elhAlll
x = input('Enter first number:') ®
(int, float,..) Jigall aaf plariwl &ysac doud Ul yai (o X peiall 16 Jaaoll Jigai ol af

Jl o o alaiiiall 0 ao gl gox peioll dijlao ol dfx == 0 adbpiul dloa il 1ging 1l jauwdl 1o @
g] JUA | (String) duni alulw 5 dogall gyl 0gai iillg dnput() @is plasiwl ;@Lcm ol Jaaall
Las) pariwall Jaol

ifojuc y1o:5gag0ac @

Juglll print 6jluc 16 AdL Gdlwo >gag 0ac @
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=]

(Exceptions) leliliwUl

utle Oleliiiwl Gacku dedgio pé Gland i ol Jueds elil ang 26 elhal Lo ol 16 Sleliliw ]
unalan wsgi g Jasll 16 aolipl jaiuy Cus dokio a8y elhall 2o Joleil
16 421 595 yaii g (try) alis 1o lha w26 Al 5gAll ayand (try/except) ) dunopl dauleill Ao

20G10 ue JAiiy @ogi Aol ey (po Dy s 13 lhadl 1am go Joleill (except) dlis

25lilg b ag6 G2y a8 il ejall ayanil s try/except ol Olagdeill pladiwl 4oy al
2ol Joc jlpodwl (o

:try/except olaaiwl ara1s
Uba ag6 G2y 28 Al o pll Slogleill e ngindtry dnopll dogleill e

try Al sgagall ejdl 16 lha @i 13] 03uais i il anopl cilaleill sile ngini except dunopl doyleill e

bl Lo
1 try:
2 X =10 / 0 # ZeroDivisionError Uss J) 5 'a
3 print(x)
’ (except ZeroDivisionError: )
5 Y 1t S GV S ETR PO I
except:

print("gssis ;o2 Lhs 2us")

Run: 1

> C:\Users\ali\Desktop\python\daleel10-al\.venv\Scripts\python.exs
)_I..au_Lc i.A.uJ_H",S_A__nY

Process finished with exit code ©
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:JUod! A
_ZeroDivisionError laa kﬂo i O e 10 Gouud UD except ZeroDivisionError alis Aaii oluw

Una il &g Jaill except Jis (po a1l 2160 0l (16 x =10/ 2 auny 54l jusi ail3]

: Debugging gyl 16 elhAlll apani
9L ol o elha i dlljlg wani dulac go (Debugging) Jgil 1o elha Ul A
1Jalil 16 elhA Tl aani ailgh

2olipll 16 Al ggi yand o 6gha Jgl -l ggiayang
:Jio elbAll aano plaAiwl 2

elhAall anni 8yg8 6151 (PDB) Jgil 16 aoaall elhalll agano 1oy PDB
olbAallgy .3

g4l 16 Al (jlao 2211 PDB olaaiwl io: gl 6ghall e

Ul Cuw 23110 5gAll (o dalino blai 1o Gipioll o jans: il sghall e

Ihall allo 1 5gall e dojill lbaeill el aUWIdghall o
;oA juial 4

Gaeil el ] a9y g4l Juuid: gugll sghall e

Al ethalangi Uailg ano Jaudy Josy ogall g usl: adlill sghall e

el Dl annil Al
elhAall 127 Jgwill (o gls huul 5gall s lals : By dgall J=al e

2nnill duloc  Jiguiig angd e ackuii 5gall 1o ciladeil: alédeil oariul e
J192 JAdy opdialananil ogall Joday i faii U ohAiio Jady 5gall pisl - e
8ygd 6151 190 relh ATl ANl IDE gf PDB paaiwl :ulhanall oaniwl - e

louiad Jolag ol 16 asilidl elbAll pilc opoi:ailill elhall gyl o

uw Lt claoly Jusuin (panig ggihl 16 Lleo elhal anno auni i elihoy liailig algall 0am pladiwl
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=

ol
leliiiwllg elhall apani : Jazll Glhgl Ja
oAl awy abpiiall 6)gild doud Ul : (16) Joc ad)g

JUA (0 6)gilall anA Guhi a9y jeull oA twall ulwa ¢ AlAdol|
(ap o psl) ojgilall aous Jol - -
(10090 (s aghil) on duwi Jol - -
(discount) el duui g (price) ol el : I LA 1 0]

ableall plaaiwl ulgill jeudl wlun A0l
net_price = price - (price * discount / 100)

Aol
.(net_price) anAll 19y joull dclb -
-(ValueError) cgill (jo ha plenNe Y| U'LO (Error: Please enter valid numeric values) aclb -
.(Program has ended) aclb -
auojjigall
aolpllagly 1

Uil CighaJl ALail dlglaad try Alis plaiwl 2
(ol jpul) price Jao] oaniwoll go b a
(oAl i) discount JWo] ool jo b b
ol Ll ulgll jull Ul
net_price = price - (price * discount /100)
"Net price after discountis: net_price" acubb  .d
:(ValueError) ulill £qi J1o lha &an 15] Cung except alis plaviwl .3
"Error: Please enter valid numeric values ." : acb
aglgll allwyl dcb Jligalll gron 16 4
finally JAl> "Program has ended "

aolylalgi 5
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1 (16) Jo=ll 46)9 Jn U

: duno pll Loyl

& discount.py *

1 try:

2 #Get the original price from the user

3 price = float(input("Enter the original price: "))
4

5 #Get the discount percentage from the user

6 discount = float(input("Enter the discount percentage (0 - 100): "))
7

8 #Calculate the net price

9 net_price = price - (price * discount / 160)

10

11 #Print the result

12 print("Net price after discount is:", net_price)
13

14 except ValueError:

15 #Handle invalid input

16 print("Error: Please enter valid numeric values.")
17

18 finally:

19 #Always print this message

20 print("Program has ended.")

@ O

2 "/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"
Enter the original price: 600g

<

Error: Please enter valid numeric values.
Program has ended.

|

Process finished with exit code 0

i
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1 (16) Ja=ll 4b)g Ja gl
: 2oUpll pghs

Code

 discount_upgrade.py

1 try:
2 #Get the original price from the user
3 price = float(input("Enter the original price: "))
4 #Check if price is valid
5 if price <= 0:
6 print ("Error: Price must be greater than zero!")
7 else:
8 #Get the discount percentage from the user
9 discount = float(input("Enter the discount percentage (0 - 100): "))
10 #Check if discount in valid
11 if discount < @ or discount > 100:
12 print("Error: Discount must be between O and 100!")
13 else:
14 #Calculate the net price
15 net_price = price - (price * discount / 100)
16 #Print the result
17 print("Net price after discount is:", net_price)
18
19 except ValueError:
20 #Handle invalid input
21 print("Error: Please enter valid numeric values.")
22
23 finally:
24 #Always print this message
25 print("Program has ended.")
Output
@ :

"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"
Enter the original price: 1500

Enter the discount percentage (0 - 100): 105

Error: Discount must be between 0 and 100!

Program has ended.

le

Process finished with exit code 0

G @
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=

Gleliiiwll g elhAll anni: Joell §lgl Ja — s
(Body mass index) BMI puunll alis pigo :(17) Joc ad)g

(80 6)gry oy 2ol JlaAiwl) lojglaig elha Dl wlisl LAl

(height) sl Jghl g (weight) plinglialt gjgl : LA Q]
:axJloll
:éloleall plaAiwl BMI gl alis pbgo ulwy -
olpglall Jjgl

ol Jialy Jghll
- BMI 8l | &ladl sini _

1850 JSIBMIglL 15 @
2499185 JuBMIgL 15 @

= (BMI):;awnl alib (gl

299925 uBMIgL 1y @
U3 pEBMIgLIy @
clbhAallldalles -
(ValueError) &ua8) pe 8oud gi ai o2 urall JAasi1s] @
.(ZeroDivisionError) 0 = Jghll d'AJi e
JhAall
e (A 882y (BMI) punnl Alis piigo dagd dcib - -
Awliall lwyl dclhy BMUI dogd ale el dnnll allldog -
(ZeroDivisionError  ValueError ) JasUl 16 lha 5gag o 16 ol filw) dclib -
810jjlgAll
aobplagly 1
Ul gaiig ulgilll il aglay 2
;! cighall Aeii dghal try alis olasiwl -
(float). ipiic 5195 akong ohegibll (gjgl Jhol ool jgoudb @
(float). ipiic 5195 akiong Jinly Jghll JAol pariwall ol @
:@sleall o123 iwl BMI ownll 8115 pido ulun @
plglal gjgl
A (o pdie Guudl) BMI dous acib - @
:BMUI doud e aly dnnll dlall yany @
."You are underweight." aclib 18.5 (1o dbf BMIgL Il (a

= (BMI): ol alis (jqild

."You have a normal weight."aclb .24.9918.5 JuBMIglb 15l (b
."You are overweight." aclb 29.9 925 JuBMIglb 15] - (c
"Youare obese." acub ¢lJ5 pc BMI b 15 (d

:(ValueError) apod) pc doud paniueall Jaol 1] cuyny except alis planiwl L]
""Error: Please enter valid numeric values for weight and height." :aJlwj acib  (a

:(ZeroDivisionError) (Jan il dawall Jaoyl) ian Jahll Ol dAJTg lha v 15| Cuny except AUS plaviwl - @
"Error: You can't divide by zero!" :allwj acib  (a

26ghAll u] gga
olplldylgh 4
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1 (17) Jo=ll 46)9 Jn Ui

: ol wlod=ill

& BMI_Answer.py

1 # Program to calculate BMI with error handling N
2 while True:

3 try:

4 # Get user input: weight and height

5 weight = float(input("Enter your weight in kilograms: "))

6 height = float(input("Enter your height in meters: "))

7 # Calculate BMI
8 bmi = weight / (height ** 2)
9 # Display the BMI

10 print(f"Your BMI is: {bmi:.2f}")

11 # Determine BMI category

12 if bmi < 18.5:

13 print("You are underweight.")

14 elif 18.5 <= bmi < 24.9:

15 print("You have a normal weight.")

16 elif 25 <= bmi < 29.9:

17 print("You are overweight.")

18 else:

19 print("You are obese.")

20

21 except ValueError:

22 print("Error: Please enter valid numeric values for weight and height.")
23 except ZeroDivisionError:

24 print("Error: You can't divide by zero!")

Output

@ O

"/Users/mirror/PycharmProjects/Grade 10/.venv/bin/python"
Enter your weight in kilograms: 70

Enter your height in meters: 150

Your BMI is: 0.00

=¥ You are underweight.
= Enter your weight in kilograms: 80
| Enter your height in meters: 0

Error: You can't divide by zero!
Enter your weight in kilograms: 60
Enter your height in meters: 190
Your BMI is: 0.00

You are underweight.

Enter your weight in kilograms:
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by of aulwnl auloell £gi 233 0 (uad) e kuoll (Jo Jadiuy A duwbs all aolipl
elbAl o aegi e polipl 130 (1ging , A1l 1) d il J1ls] o

. (Syntax Errors)éugaill claalll @

. (Logical Errors)audhiall clhalll @

a0l Ulol=eill

1 By pnllly il oz ok cread Aany Al Al

2

3 #ooadiad) o BN o Jsaall

4 numl = input(" :u,¥1 s, 00 gssi™)

5 num2 = input(" :_suid s gssi™)

6

7 # Alaall Alall jlaal

8 operation = input(" :(/ ,* ,- ,+) Lo eloildl aoy5 50t dadasdl gssi")
9

10 # osbdl Al o float ) AS,Y1 Qigas

11 try:

12 numl = float(numl)

13 num2 = float(num2)

14 except ValueError

15 Print(". inins pliyl Jlsol ooyo lns")

16 exit()

17

18 # Al delhy Agluall ddell ol )

19 if operation = "+":

20 result = numl - num2 # aall e Y ookl alaand s Vs Uad
21 elif operation = "-":

22 result = numl + num2 # zob e Yy meall alaaid o Vs Uad
23 elif operation = "x":

24 result = numl % 2 # cyrad sl o pum2 o8 ol ey sV U
25 elif operation = "/":

26 if num2 = 0:

27 print (", aalt _de dawill Sos ¥ I lns"

28 else:

29 result = numl / numl # num2 oe Yo sl i e dedll pys Uaa
30 else:

31 print("ixit. jue ilae :ln=")

32

33 # daml delh

34 print(": ", result
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;Lo Jliall ga

elif operation == "*":

result = num1*2

ihoill alis oac | except ValueError: agaill elaadll except 2=y: (ol o
: (Syntax Errors) ValueError
14
except 1y
ValueError
print("axail:", result) agaill elaadll aulgi y1o yugall UL L
(Syntax Errors) aclll doa 34
print("axyil:", result)
Ganill b dolw| | Elif operation == "/": ahiall clhAdl Jgunumz2 e doudll
num2 (Js 15 lao if NUM2 =< O (Logical Errors) | ljao igluy b 15] Lao Ganill
46 loo gl ) 4 o
) o print (" & 8l 1y U lha elif operation:"/" ==
Aoudll el 25
ranll qc") result = num1/num?2
else:
result = num1/num?2
acuhnll 6 ol if b i dolol alaaoll adasll cuils 15]
aaJlo dulosl cuils 13] Lo Ganill J'AJT 15] axllo (operation)
if operation notin:["/","*" ,"-","+"] Qo pe ljoj parbuoll 31
print("a~lo ¢ duloc 1ha) else:
print ji¢ duloc :lhA")
("axlo
num2 J 2 Jlagwl | elifoperation == "*": o oly Al dldac 10
i diloc olail result = num1* num?2 numt 162 go Laynum2 "
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=

mllln
-ggpitall : aposyl Gilaial

lGuuo 61209 63210 Jac @IJgT 21005 e andiel U lgigs ulinll dlang U'LOLJ € (Gund Pl alaiiodl) 62ng LA
W)l (1o aalel ailo gl 16 dcgano (an gl bbpaio (b clgw oleiall gl e 10iei loilg aleial

«aliro JAiiy dogleo ooy gl dikeo @023 026) gl (120 £g1g0 015 hyuy cqpito aliil 16 dngwlh Cljlgog

Gilogleollg gl a2l 16 Wjlog ljlgo (Jo aaleilo JUA (o legpuito duabyl Iladioll 613g 16 aleiall 0ad)

gl Jnall JUA aliolllg Jasll ghgl guhig yugiall JUA o lgauhi o il

o =

Project ’
allls
oo Pl uladiall : adeil Ul L

acgiio polp alil Jieo JAauiy Python 16 duisall ol Giljlgall b

.acgpito pghil pleill dcgiio jslno plariwl dinulg (ulill aledl Gljlgo duodi

Auwlio axop Jala odanig iadiall uad JUA o clallig el gue Uljaall duald
.aogul 6Ll 2619 (o Dl lial Mled aoly pghig orani 16 dvopll Ailjlgodl Guhi
.60ye0ll Jowig Jgleil agyjlgblg.duxopl Jasll §10 (oo dulcldy 5ol

acgiiall yaill Gilgag Jiai g aalixall Jgll aiiblio g oDl olol aunopll jlaol e

Jooull cl>1ll pghig £gpiall 650 (il dsalfl ayaeill go Jelaill
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=4

:cqpitoll slac] Jalyo

Joa=ll g6 slaci-1
el J1o (Luwlio ol=allolpy Lo L al) Jralwio 5 gl 4 (o gqpitall dlacy Jowll §j6 1aNg
Aol ulaiiall Geub (e dole 6140  pligiwl a9y wljall Jnall (o gl

6344l 2)25-2

Wibgilgaol Jog sasl aliall 8)46 Jgi8 bapuig hulg (o aio Wagllg ggpitall £grgo 2)an]
g aigd (o ibgb}o piRig gwjjﬂl il 1oy Ug pobipdl ulo LJ'LCU_IQ_D.IJ| clsall abiad nl
sl cusg Gleiwlg dlaged aluail sl adiodl abluy e

(wojjlgall) Jall dhA slac)-3
Juc aleall jgs jnidy cun aleall 16 (4o lpiealog gqpitall 63450 Guani I duojjlgh dlac]
2l Guhll gai aleioll Sl

goaill ahyps pponi-4
(Flowchart) §oai akhyag Jal éuojlga Juiad

a0l ilaglelll )lis-5
0ol a8l plaiwl avopl Hlatleil 4o acgano Ul goaill ahyA g
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=4

el
:gquivall 5lacl Jalpo - gl

229 Yl ol aunni' s aolipdl juinl-6
Qnnig aahw 6)gry aolipdl Jacg dan jJuid I Al dijlaog lily JAolg aolipl Jusuild
Waag gl elhadll

Jowlhll oleo g e llojll yule ggpirall y)c-7
umamllppdanogm A oJl dnn Igm@@lmpg@glmm'ubpmduojgoggw"' | dudlio
JAllonll o 201l big jgganl dgalgog elaldl gulc jaillg yuail
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=

:cqpitoll 8a jisioll ciljlgall

piog il Jnall JIA lguuisl il dljlgall aheo aleioll ggpuito (Jani i agall (o

File ____>new project 222 cqpuito cliul 1
New --—--=> python file 111 Jglb wlo elddl 2
Str (), int() , float() ,booi() (dwdhio, didac, duni) alpeiall o gledl | 3
Print () alaurals 4
o O 1] [ -k awlunl oldosll pladaiwl | 5
Input() bl Jubiwl alls 6
And, or auahioll llasll olaAiwl 7
If elif else dub pidl lloell plaATwl 8
While | for il Jlgall plaAiwl 9
aunil Jw Ll clidl 10
Indexing [ ] aunil Juw tudl uwygo 1
slicing dunil Jw ! ouudi | 12
+ concatenation dunill Jwludlgox | 13
* il dlududl olic Jj485 14
Capitalize() - il Juw tull Jigs oladiwl |15
Upper() -
Lower() -
Find() -
Replace() -
f-string -
Int() -
Float() -
Center() -
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=4

:gquinall blac] Jalo aylio

Jaogq aan g_u_h.uDI J4A bayyal Joesiudg il cguwdl o leay ggpitally Joxll aleiall 731_4
Ul Joal JUA (o (proleioll gyjlito deilio oleoll

= £quitallslacl Jao Galin —
Q cowll | cowll | gowll | cowll | coull | gcquull m
2 1 10 9 8 7
2 49 - g~ -
Q= | 3 A A 5 quirall owl
. 33%% s 35 53 § e
Jlh o gl Sh= EN= = il ) g g 3 cliac] clouwlg
JU 9 wi g - 3 o = .
i 3 28 % ERE 42 5 cquitall
£9piLo
-1
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